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QUESTION 1

Which of the following is not an influence of service-orientation? Select the correct answer.
A. Object-Oriented Analysis and Design (OOAD)

B. Business Process Management (BPM)

C. Enterprise Application Integration (EAI)

D. Fluid Dynamics (FD)

Correct Answer: D

QUESTION 2

The principle is primarily concerned with ensuring that services exercise a high level of control
over their underlying runtime execution environment. Select the correct answer.

A. Service Performance
B. Service Autonomy
C. Service Agility

D. Service Abstraction

Correct Answer: B

QUESTION 3

Which of the following is a common reason as to why the Standardized Service Contract principle is not followed in
some organizations? Select the correct answer.

A. Development tools are used to auto-generate the details of the technical service contract.
B. Developers ignore service contract design standards.

C. Developers are required to use pre-defined third-party service contracts obtained with the purchase of legacy system
adapters.

D. All of the above.

Correct Answer: D

QUESTION 4

When applying the Service Loose Coupling principle coupling types are avoided in order to
the governance independence of the service. Select the correct answer.
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A. positive, minimize

B. negative, minimize
C. negative, maximize
D. positive, maximize

Correct Answer: C

QUESTION 5

Which of the following is a common challenge imposed by the adoption of service- orientation? Select the correct
answer.

A. Service-orientation introduces the need for design standards, which need to be followed and enforced.
B. Service-orientation requires that you commit to one vendor platform, which can limit your product options.
C. Service-orientation requires that services be protected from repeated reuse, which can reduce potential ROI.

D. Service-orientation introduces the need to make all implementation details about each service publicly available,
which can lead to the misuse of this information by some project teams.

Correct Answer: A
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